D Listen to the following longer conversation twice and decide
whether the statements are true or false. Write “T” for true or
“F” for false.
（  ）1 The maid found a locket with a picture in it in the corridor of the hotel.
（  ）2 Mr. Brown had checked out about half an hour ago.
（  ）3 The locket was the little girl’s birthday present.
（  ）4 The clerk telephoned Mr. Brown about the locket he had found.
（  ）5 The clerk promised to send the locket by registered mail to Mr. Brown that day.
（  ）6. Mr. Brown’s daughter got a bad cold.
（  ）7 Mr. Brown would recommend the hotel to his friends.
（  ）8 The clerk asked Mr. Brown to send the postal charges to the hotel.

E  Listen to the following longer conversation twice and choose the right answer to the question you hear.
1 A. To pick the lost briefcase.
B. To hand in the briefcase.
C. To ask the policeman for help.
D. To thank the policeman for his help.
2 A. In the street.           B. On a bus.
C. In a taxi.               D. In a hotel.
3  A. Some letters, samples, paper, and checks.             B. Some samples, some paper and a check book..
C. Leather samples, letters from the Pacific Leather Company and a check book.             
D. Some leather, some paper and a traveler’s check.
4  A. A bus driver.       B. A bus conductor.
C. A pedestrian.       D. A taxi driver.
5 A. To get the briefcase back.
B. To reward the driver.
C. To check the contents.
D. To make friends with him.

 Part3 Passages

New Words and Expressions
loan 贷款                 laborious    艰苦的
sandy-haired 浅棕色头发的  a stack of    一堆      
long-overdue 超期很久的    unrelenting  不屈不挠的
on a regular basis 定期      untiringly    不知疲倦的  adjoining 临近的           reluctant    不情愿的
zeal      热情            wizard       奇才
tycoon    巨头            specialty store 专卖店
breakdown 崩溃           shrewd      精明的
hidden luxury 内在的豪华   ostentation   炫耀
overlap   重叠            seamstress   女裁缝
quotable  值得引用的      intuit        凭直觉发现

Passage A 
Listen to the passage twice and choose the right answer to each question you hear.
1 A. Because he was an experienced cook.
B. Because he wanted to own a business by himself.
C. Because he had some money for investment.
D. Because he wanted to make more money.
2 A. Determination helped George and his friend to succeed.           
B. Restaurants make lots of money.
[bookmark: _GoBack]C. So long as one makes good plans, everything will run smoothly.               
D. Getting a loan is the most difficult part of starting a business.
3  A. Get a loan.             
B. Hire employees.
C. Save money.             
D. Buy restaurant items.
4  A. They bought their tables and chairs from a furniture store.       
B. They negotiated with several banks, and one of them finally granted them a loan.
C. George takes care of bank accounts, paying bills and salaries.       
D. George’s friend prepares food by himself.
5 A. By moving their restaurant to the center of the city.
B. By putting some advertisements in the newspapers and on the radio.
C. By offering lower prices to the customers.
D. By providing special food.

